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vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 

ANSWER SHEET) esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fdlh iz’u dk ,d ls vf/kd mŸkj fn;k tkrk gS] rks mls xyr mŸkj ekuk 

tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 
x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh vksŒ,eŒvkjŒ ‘khV miyC/k djkus ds ckn 
gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 
egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. In which type of frame the 
prompts are not used ? 
(A)   Introductory frames 
(B) Teaching frames 
(C) Practice frames  
(D) Testing frames   

 1. fdl izdkj ds Ýse esa vuqcks/kdks dk iz;ksx 
ugha fd;k tkrk gS \ 

(A) ifjp;kRed Ýse 
(B) f’k{k.k Ýse 
(C) vH;kl Ýse 
(D) ijh{k.k Ýse 

2. How many types of frames are 
there in a linear programme ?   
(A)   2 
(B) 3 
(C) 4  
(D) 5   

 2. js[kh; vfHkØe esa fdrus izdkj ds Ýse gksrs 

gSa \ 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

3. Prompts are used to help to make 
correct response in : 
(A)   Liner Programmed Instruction 
(B) Branching Programmed Instruction 
 (C) Both  
(D) None of these   

 3. lgh vuqfØ;k esa lgk;rk nsus ds fy,  
vuqcks/kdks dk iz;ksx fd;k tkrk gS % 

(A) js[kh; vfHkØfer vuqns’ku esa 
(B) ‘kk[kh; vfHkØfer vuqns’ku esa 
(C) mijksDr nksuksa esa 
(D) buesa ls dksbZ ugha 

4. ______ is Useful for transfer of 
skills. 
(A)   Liner Programmed Instruction 
(B) Branching Programmed Instruction 
(C) Mathetics  
(D) None of the above    

 4. dkS’kyksa ds LFkkukarj.k ds fy, ______ 
mi;ksxh gSA 
(A) js[kh; vfHkØfer  vuqns’ku  

(B) ‘kk[kh; vfHkØfer  vuqns’ku  
(C) eSFksfVDl  

(D) mijksDr fdlh esa ugha 
5. What is called descending ordered 

programmed learning ?   
(A)   Liner Programmed Instruction 
(B) Branching Programmed Instruction 
(C) Mathetics  
(D) None of the above    

 5. vojksgh vfHkØfer vf/kxe fdls dgk tkrk 

gS \ 

(A) js[kh; vfHkØfer  vuqns’ku dks 

(B) ‘kk[kh; vfHkØfer  vuqns’ku dks  

(C) eSFksfVDl dks 

(D) mijksDr eass ls dksbZ ugha 
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6. The principle of small steps is not 
followed in : 
(A)    Linear Programmed 

Instruction 
(B)  Branching Programmed Instruction 
(C) Mathetics  
(D) None of the above    

 6. NksVs inksa ds fl)kar dk vuqikyu ugha fd;k 

tkrk gS % 

(A) js[kh; vfHkØfer  vuqns’ku esa 

(B) ‘kk[kh; vfHkØfer  vuqns’ku esa 

(C) eSFksfVDl easa 

(D) mijksDr fdlh esa ugha 

7. Student’s error is considered as a 
hindrance in learning :   
(A)    Liner Programmed Instruction 
(B)  Branching Programmed Instruction 
(C) Mathetics  
(D) None of the above    

 7. Nk=ksa dh =qfV dks vf/kxe esa ck/kd ekuk 

tkrk gS % 
(A) js[kh; vfHkØfer  vuqns’ku esa 
(B) ‘kk[kh; vfHkØfer  vuqns’ku esa 
(C) eSFksfVDl easa 
(D) mijksDr fdlh esa ugha 

8. Diagnostic and Remedial teaching 
is arranged in : 
(A)   Liner Programmed Instruction 
(B) Mathetics Programmed Instruction 
(C) Branching Programmed Instruction 
(D)  Descending ordered 

Programmed Instruction   

 8. funkukRed ,oa mipkjkRed f’k{k.k dh 

O;oLFkk dh tkrh gS % 

(A) js[kh; vfHkØfer vuqns’ku esa 

(B) eSFksfVDl vfHkØfer vuqns’ku esa 

(C) ‘kk[kh; vfHkØfer vuqns’ku esa 

(D) vojksgh vfHkØfer vuqns’ku esa 

9. The exponents of branching 
programmed is : 
(A)   B.F. Skinner 
(B) Norman A. Crowder 
(C) Gilbert  
(D) Thorndike   

 9. ‘kk[kh; vfHkØfer vf/kxe ds çfriknd gSa % 

(A) chå ,Qå fLduj 

(B) ukeZu ,å ØkmMj 

(C) fxycVZ 

(D) FkksuZMkbd 

10. Cone of Experience is given by :   
(A)   Skinner 
(B) Davis 
(C) Osborn  
(D) Edgar Dale   

 10. vuqHko ‘kadq fdlds }kjk fn;k x;k gS \ 
(A) fLduj 
(B) Msfol 
(C) vkslckWuZ 
(D) ,Mxj Msy 
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11. On which learning principle is 
programmed instruction based ?   
(A)   Operant Conditioning Theory 
(B) Connectionism Theory 
(C) Hull’s Reinforcement Theory 
(D) Classical Conditioning Theory  

 11. vfHkØfer vf/kxe fdl vf/kxe fl)kar ij  
vk/kkfjr gS \ 
(A) fØ;k izlwr vuqca/ku fl)kar 
(B) laca/kokn fl)kar 
(C) gy dk iqucZyu fl)kar 
(D) ‘kkL=h; vuqca/ku dk fl)kar 

12. The word communication is 
derived from which Latin word ?  
(A)   Community 
(B) Common 
(C) Communis  
(D) Communion   

 12. dE;qfuds’ku ‘kCn dh mRifŸk ySfVu Hkk”kk ds 
fdl 'kCn ls gqbZ gS \ 
(A)   Community 
(B) Common 
(C) Communis  
(D) Communion   

13. The Brain storming method 
proposed by : 
(A)   Kilpatrick 
(B) Osborn 
(C) Stevenson 
(D) Davis   

 13. efLr”d foIyo ¼czsuLVkWfeZax½ fof/k ds 
izfriknu fd;k % 
(A) fdyiSfVªd us 
(B) vkslckWuZ  us 
(C) LVhosalu us 
(D) Msfol us 

14. Which of the following step is not 
included in problem solving ?  
(A)   Accumulation of data 
(B) Formulating hypothesis 
(C) Verification and making 

generalization  
(D) Responding to the stimulus   

 14. fuEu esa ls dkSu lk pj.k leL;k lek/kku esa 
‘kkfey ugha gS \ 
(A) çnŸk dk laxzg.k 
(B) ifjdYiuk fuekZ.k djuk 
(C) lR;kiu vkSj lkekU;hdj.k djuk 
(D) míhidksa ds izfr vuqfØ;k 

15. Which type of example should not 
be used in teaching ? 
(A)   Variation in examples 
(B) Example according to level 
(C) Example related to previous 

knowledge   
(D) Example leading from the 

unknown to the known   

 15. f’k{k.k esa fdl izdkj ds mnkgj.k dk iz;ksx 
ugha djuk pkfg, \ 
(A) mnkgj.kksa esa fofo/krk 
(B) Lrj ds vuqdwy mnkgj.k 
(C) iwoZ Kku ls lacaf/kr mnkgj.k 
(D) vKkr ls Kkr dh vksj ys tkus okys 

mnkgj.k 
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16. In storytelling, care is taken to 

describe sequenced events, what 

type of teaching method is it ? 

(A)   Narration method 

(B) Questioning method 

(C) Description method  

(D) Lecture method   

 16. dgkuh dgus esa Øec) ?kVukvksa ds o.kZu ij 

/;ku j[kk tkrk gS] ;g fdl izdkj dh 

f’k{k.k izfof/k gS \ 

(A) fooj.k fof/k 

(B) iz’uksŸkj fof/k 

(C) o.kZu fof/k 

(D) O;k[;ku fof/k 

17. Which of the following is a 

autocratic method of teaching :  

(A)   Questioning method 

(B) Brain Storming method 

(C) Lecture method  

(D) Planning method   

 17. buesa ls dkSu lh f’k{k.k dh ,d izHkqRooknh 

fof/k gS % 

(A) iz’uksŸkj fof/k 

(B) efLr”d foIyo fof/k 

(C) O;k[;ku fof/k 

(D) ;kstuk fof/k 

18. The ancient teaching methods 

were : 

(A)   Text Book Centered 

(B) Child Centered 

(C) Curriculum Centered  

(D) Teacher Centered  

 18. izkphu dkyhu f’k{k.k fof/k;k¡ Fkh % 

(A) ikB~; iqLrd dsafnzr 

(B) cky dsafnzr 

(C) ikB;~Øe dsafnzr 

(D) f’k{kd dsafnzr 

19. Students remain passive in :  

(A)   Lecture method  

(B) Project method 

(C) Discovery method 

(D) All of the above   

 19. Nk= fuf”Ø; jgrs gSa % 

(A) O;k[;ku fof/k esa 

(B) izkstsDV fof/k esa 

(C) [kkst fof/k esa 

(D) mi;qZDr lHkh 
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20. The Demonstration method is most 

commonly used in : 

(A)   Science teaching 

(B) History teaching 

(C) Language teaching   

(D) Civics teaching   

 20. iz;ksx&izn’kZu fof/k lokZf/kd iz;qDr gksrh gS % 

(A) foKku f’k{k.k esa 

(B) bfrgkl f’k{k.k esa 

(C) Hkk”kk f’k{k.k esa 

(D) ukxfjd ‘kkL= f’k{k.k esa 

21. Discussion method is used in :  

(A)   Large group 

(B) Small group 

(C) Middle group  

(D) Extra Large group   

 21. ppkZ fof/k dk iz;ksx fd;k tkrk gS % 

(A) cM+s lewg esa 

(B) NksVs lewg esa 

(C) e/;e lewg esa 

(D) vR;f/kd cM+s lewg esa 

22. Discussion method is the means by 

which people share ?  

(A)   Experience ideas 

(B) Instantiation ideas  

(C) Experience, ideas, Attitude   

(D) (B) & (C) Both 

 22. ppkZ i)fr og lk/ku gS ftlds }kjk yksx 

lk>k djrs gSa \ 

(A) vuqHkkfod fopkj 

(B) LFkkiuk fopkj 

(C) vuqHko] fopkj] ǹf”Vdks.k 

(D) (B) vkSj (C) nksuksa 

23. Symposium is a type of : 

(A)   Discovery Method 

(B) Discussion Method 

(C) Lecture Method  

(D) Inquiry Method   

 23. laxks”Bh ,d izdkj gS % 

(A) [kkst fof/k dk 

(B) ppkZ fof/k dk 

(C) O;k[;ku fof/k dk 

(D) iwNrkN fof/k dk 
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24. Which one of the following is not 

an obstacle in problem solving ? 

(A)   Anxiety 

(B) Negative Mental Set 

(C) Insight 

(D) Frustration   

 24. fuEufyf[kr esa ls dkSu leL;k lek/kku esa 

ck/kk ugha gS \ 

(A) fpark 

(B) udkjkRed ekufld lsV 

(C) varnZ̀f”V 

(D) fujk’kk 

25. The first step of the project method 

is :  

(A)   Program Making 

(B) Decision of Work 

(C) Choosing a project  

(D) Creation of Situation   

 25. izkstsDV i)fr dk igyk in gksrk gS % 

(A) dk;ZØe cukuk 

(B) dk;Z dk fu.kZ; 

(C) izkstsDV pquuk 

(D) ifjfLFkfr dk fuekZ.k 

26. The Founder of Project Method is :  

(A) Jhon Dewey 

(B) Armstrong 

(C) Herbert  

(D) W. H. Kilpatrick   

 26. izkstsDV fof/k ds tUenkrk gS % 

(A) tkWu Mhoh 

(B) vkeZLVªkax 

(C) gjcVZ 

(D) MCY;wå ,på fdyiSfVªd 

27. Which objectives are achieved by 

instruction : 

(A)   Affective 

(B) Cognitive 

(C) Functional 

(D) None of the above   

 27. vuqns’ku }kjk mÌs’;ksa dh izkfIr gksrh gS % 

(A) HkkokRed 

(B) KkukRed 

(C) fØ;kRed 

(D) mijksDr essa ls dksbZ ugha 
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28. Which comes under Post active 

stage of teaching : 

(A)   Planning of teaching 

(B) Organization of learning 

(C) Control of teaching  

(D) Guidance of Teaching   

 28. f’k{k.k dh mŸkj fØ;k voLFkk ds varxZr 

vkrk gS % 

(A) f’k{k.k dk fu;kstu 

(B) f’k{k.k dk laxBu 

(C) f’k{k.k dk fu;a=.k 

(D) f’k{k.k dk ekxZn’kZu 

29. Open University is an example of :   

(A)   Teaching Technology  

(B) Instructional Technology  

(C) Behavioral Technical 

(D) All of the above  

 29. [kqyk fo’ofo|ky; mnkgj.k gS % 

(A) f’k{k.k rduhdh 

(B) vuqns’ku rduhdh 

(C) O;ogkj rduhdh 

(D) mijksDr lHkh 

30. How many levels of teaching are 

there ?   

(A)   2 

(B) 3 

(C) 4  

(D) 5   

 30. f’k{k.k ds fdrus Lrj gksrs gSa \ 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

31. Micro Teaching is an example of : 

(A)   Teaching Technology 

(B) Instructional Technology 

(C) Behavioral Technology  

(D) None of the above   

 31. lw{e f’k{k.k mnkgj.k gS % 

(A) f’k{k.k rduhdh dk 

(B) vuqns’ku rduhdh dk 

(C) O;ogkj rduhdh dk 

(D) mijksDr esa ls dksbZ ugha 
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32. The base of Behavior Technology 

is : 

(A)  Psychological 

(B) Social 

(C) Philosophical  

(D) Sociological   

 32. O;ogkj rduhdh dk vk/kkj gksrk gS % 

(A) euksoSKkfud 

(B) lkekftd 

(C) nk’kZfud 

(D) lekt’kkL=h; 

33. The gift of Programmed Study in 

the field of education is given by : 

(A)   Behavioral Technology 

(B) Education Technology 

(C) Instructional Technology  

(D) Instruction Format   

 33. f’k{kk ds {ks= esa vfHkØfer v/;;u dk 

migkj iznku fd;k % 

(A) O;ogkj rduhdh 

(B) f’k{kk rduhdh 

(C) vuqns’ku rduhdh 

(D) vuqns’ku izk:i 

34. The meaning of Instruction is :  

(A)   To teach 

(B) To Provide Information 

(C) To Learn  

(D) All of the above   

 34. vuqns’ku dk rkRi;Z gksrk gS % 

(A) f’k{k.k djuk 

(B) lwpuk,a iznku djuk 

(C) lh[kuk 

(D) mijksDr lHkh 

35. The credit for developing 

Teaching Technology goes to : 

(A)   Morrison and Herbart 

(B) Brunner 

(C) Flanders 

(D) Asubel and Herbart    

 35. f’k{k.k rduhdh dks fodflr djus dk Js; 

tkrk gS % 

(A) ekWfjlu o gjckVZ 

(B) cwzuj 

(C) ¶+yS.Mj 

(D) vklqcsy o gjckVZ 
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36. The Father of Behavioral 

Technology is :  

(A)   Skinner 

(B) Brunner 

(C) Morrison  

(D) Herbart   

 36. O;ogkj rduhdh ds tUenkrk gS % 

(A) fLduj 

(B) czwuj 

(C) ekWjhlu 

(D) gjckVZ 

37. Programmed instruction is 

associated with : 

(A)   Classical conditioning 

(B) Trial and error theory 

(C) Operant conditioning  

(D) None of these   

 37. vfHkØfer vuqns’ku lacaf/kr gS % 

(A) ‘kkL=h; vuqdwyu 

(B) iz;kl vkSj =qfV fl)kar 

(C) fØ;k&izlwr vuqdwyu 

(D) buesa ls dksbZ ugha 

38. The objective of educational 

technology is :  

(A)   To develop teaching and 

learning methods 

(B) To help poor people 

(C) To identify the potential of 

learners  

(D) To teach moral values to 

students    

 38. ‘kSf{kd rduhdh dk mÌs’; gS % 

(A) f’k{k.k vkSj lh[kus ds rjhdksa dks 

fodflr djuk 

(B) xjhc yksxksa dh enn djuk 

(C) f’k{kkfFkZ;ksa dh {kerk dh igpku djuk 

(D) Nk=ksa dks uSfrd ewY; fl[kkuk 

39. Which is not the software 

approach educational technology :  

(A)   Teaching Methods 

(B) Transparencies and Slides 

(C) Overhead Projector  

(D) Computer Programme   

 39. ‘kSf{kd rduhdh dk dksey f’kYi mikxe 

ugha gS % 

(A) f’k{k.k fof/k;k¡ 

(B) Vªkalisjsalht ,oa LykbM~l 

(C) vksojgsM izkstsDVj 

(D) dEI;wVj izksxzke 
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40. Software educational technology is 
called : 
(A)   Relative educational 

technology 
(B) Constructive educational 

technology 
(C) Both of the above  
(D) None of these  

 40. lkW¶Vos;j ‘kSf{kd rduhd dks dgk tkrk gS % 

(A) lkisf{kd ‘kSf{kd rduhd 

(B) jpukRed ‘kSf{kd rduhd 

(C) mijksDr nksuksa 

(D) buesa ls dksbZ ugha 

41. The aspects of educational 
technology are : 
(A)   One (Process) 
(B) Two (Input and Output) 
(C) Three (Input, Process, 

Output)  
(D) Four (Input, Process, Output, 

Modem )  

 41. ‘kSf{kd rduhdh ds i{k gksrs gSa % 

(A) ,d ¼izfØ;k½ 

(B) nks ¼vnk ,oa iznk½ 

(C) rhu ¼vnk] izfØ;k ]iznk½ 

(D) pkj ¼vnk] izfØ;k ]iznk ekWMse½ 

42. An Education Technical Center 
has been established under 
NCERT, it is presently called :  
(A)   Central institute of 

educational technology 
(B) Indian institute of educational 

technology 
(C) Institute of educational 

technology  
(D) State institute of educational 

technology   

 42. ,ulhbZvkjVh ds varxZr ,d f’k{kk rduhdh 

dsanz dh LFkkiuk dh xbZ] bls orZeku esa dgk 

tkrk gS % 

(A) dsanzh; ‘kSf{kd izkS|ksfxdh laLFkku 

(B) Hkkjrh; ‘kSf{kd izkS|ksfxdh laLFkku 

(C) ‘kSf{kd izkS|ksfxdh laLFkku 

(D) jkT; ‘kSf{kd izkS|ksfxdh laLFkku 

43. Who is considered as the 
propounder of programmed 
learning ? 
(A)   Sydney Pressed 
(B) Normal A. Crowder 
(C) Skinner  
(D) E. L. Thorndike    

 43. vfHkØfer vf/kxe ds izfriknd ekus tkrs gSa\ 

(A) flMuh izslh 

(B) ukeZy ,å ØkmMj 

(C) fLduj 

(D) bZå ,yå FkkWuZMkbd 
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44. Educational technology is the 
application of scientific knowledge 
about learning to practical learning 
situations. Who said ?   
(A)   I. K. Davis 
(B) G. O. M. Leith 
(C) J. Bloomer  
(D) Robert A. Cox   

 44. ‘kSf{kd rduhdh dks O;ogkfjd vf/kxe dh 

ifjfLFkfr;ksa esa oSKkfud Kku dk iz;ksx dgk 

tkrk gSA fdlus dgk gS \ 

(A) vkbZå dså Msfol 

(B) thå vkså ,eå ysFk 

(C) tSDosVk Cywej 

(D) jkWcVZ ,å dkWDl 

45. Technology is the form of science : 
(A)   Theoretical 
(B) Behavioral of Practical 
(C) Both  
(D) None of the above  

 45. rduhdh foKku dk :i gS % 

(A) lS)kfUrd 

(B) O;kogkfjd vFkok iz;ksxkRed 

(C) nksuksa 

(D) mijksDr esa ls dksbZ ugha 

46. Davis and Glaser divided the 
content of teaching technology in 
to which four elements ? 
(A)   Planning of Teaching, 

Organization of Teaching, 
Leading of Teaching, 
Controlling of Teaching  

(B) Planning of Teaching, 
Organization of Teaching 
Leading of Teaching, Process 
of Teaching  

(C) Technology of Teaching, 
Planning of Teaching, 
Organization of Teaching, 
Process of Teaching  

(D) Technology of Teaching, 
Organization of Teaching, 
Leading of Teaching, Process 
of Teaching   

 46. f’k{k.k rduhdh dh ikB~;&oLrq dks Msoht 

rFkk Xyslj us fdu pkj rRoksa esa foHkkftr 

fd;k gS \ 

(A) f’k{k.k fu;kstu] f’k{k.k O;oLFkk] 

f’k{k.k dk vxzlj.k] f’k{k.k dk 

fu;a=.k 

(B) f’k{k.k fu;kstu] f’k{k.k O;oLFkk] 

f’k{k.k dk vxzlj.k] f’k{k.k dh fØ;k 

(C) f’k{k.k rduhdh] f’k{k.k fu;kstu] 

f’k{k.k O;oLFkk] f’k{k.k dh fØ;k 

(D) f’k{k.k rduhdh] f’k{k.k fu;kstu] 

f’k{k.k dk vxzlj.k] f’k{k.k dh fØ;k 
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47. The word technology is derived 

from which word of Greek 

language ? 

(A)   Texere 

(B) Technokos 

(C) Both 

(D) None of the above   

 47. rduhd ‘kCn xzhd Hkk”kk ds fdl ‘kCn ls 

cuk gS \ 

(A)   Texere 

(B) Technokos 

 (C) nksuksa 

(D) mijksDr esa ls dksbZ ugha 

48. Who used first the term 

educational technology ?  

(A)   Skinner 

(B) Brynmor Jones 

(C) Sydney Pressed 

(D) I.K. Davis  

 48. ,tqds’kuy VsDuksykWth ‘kCn dk iz;ksx lcls 

igys fdlus fd;k \ 

(A) fLduj 

(B) czkbueksj tksal 

(C) flMuh izslh 

(D) vkbZå dså Msfol 

49. The main principle of hardware is : 

(A)   Feedback 

(B) Reinforcement 

(C) Both Feedback and 

Reinforcement 

(D) None of these   

 49. gkMZos;j dk eq[; fl)kar gksrk gS % 

(A) ì”Biks”k.k 

(B) iqucZyu 

(C) ì”Biks”k.k o iqucZyu nksuksa 

(D) buesa ls dksbZ ugha 

50. Find the odd one :  
(A)   First Education Technology-

Hardware Approach 
(B)  Second Education Technology- 

Software Approach 
(C) Third Educational Technology- 

System Analysis 
(D) Forth Education Technology-

Management Education 
Technology   

 50. csesy NkafV;s % 

(A) izFke f’k{kk rduhdh&gkMZos;j vk;ke 

(B) f}rh; f’k{kk rduhdh&lk¶WVos;j 

vk;ke 

(C) r̀rh; f’k{kk rduhdh&iz.kkyh fo’ys”k.k 

(D) prqFkZ f’k{kk rduhdh&izca/ku f’k{kk 
rduhdh 



Series-D BED214/ K-395 Page - 15 

51. The first Radio Station started in 

India :  

(A)   1918 

(B) 1922 

(C) 1927  

(D) 1929   

 51. Hkkjr esa igyk jsfM;ks LVs’ku ‘kq: gqvk % 

(A)   1918 

(B) 1922 

(C) 1927  

(D) 1929   

52. The Primary Function of 

interpersonal communication is : 

(A)   Reasoning 

(B) Relationship Building 

(C) To inform 

(D) To provide relaxation   

 52. varoSZ;fDrd lapkj dk izkFkfed dk;Z gS  

(A) jhtfuax 

(B) laca/k fuekZ.k 

(C) lwfpr djus ds fy, 

(D) NwV iznku djus ds fy, 

53. Communication involves active 

interaction with our environments :  

(A)   Physically 

(B) Biologically 

(C) Socially 

(D) All the above   

 53. gekjs okrkoj.k ds lkFk lfØ; laidZ esa 

lapkj ‘kkfey gS % 

(A) ‘kkjhfjd :i ls 

(B) tSfod :i ls 

(C) lkekftd :i ls 

(D) mijksDr lHkh 

54. Which type of teaching-learning 

material is available on Diksha 

App ? 

(A)   Text Material 

(B) Question Bank 

(C) Audio-Video  

(D) All of the above  

 54. nh{kk ,i ij fdl izdkj dh f’k{k.k& 

vf/kxe lkexzh miyC/k gS \ 

(A) ikB lkexzh 

(B) iz’u cSad 

(C) vkWfM;ks&ohfM;ks 

(D) mijksDr lHkh 
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55. PM eVIDYA is run by : 

(A)  Swayam Prabha 

(B) Gyan Prabha 

(C) Swayam  

(D) Gyan Bharti  

 55.  PM eVIDYA pyk;k tkrk gS % 

(A) Lo;aizHkk ds }kjk 

(B) KkuizHkk ds }kjk 

(C) Lo;a ds }kjk 

(D) Kku Hkkjrh ds }kjk 

56. Which of the following is not 

broadcast by All India Radio ?  

(A)   Rang Bharti 

(B) FM Rainbow 

(C) Vividh Bharti 

(D) Red FM   

 56. buesa ls dkSu vkWy bafM;k jsfM;ks }kjk 

izlkfjr ugha fd;k tkrk gS \ 

(A) jax Hkkjrh 

(B) ,Q,e jsucks 

(C) fofo/k Hkkjrh 

(D) jsM ,Q,e 

57. Full form of SITE is : 

(A)    Satellite Instructional 

Television Experiment  

(B)  Satellite Innovative 

Television Experiment   

(C)  State Institute of 

Technological Education 

(D)  State Innovative 

Technological Experiment     

 57. SITE dk iwjk uke gS % 

(A) lSVsykbV baLVªD’kuy Vsyhfot+u 

,DlisfjesaV 

(B) lSVsykbV buksosfVo Vsyhfot+u 

,DlisfjesaV 

 (C) LVsV bafLVV~;wV vkWQ+ VsDuksykWthdy 

,tqds’ku 

(D) LVsV buksosfVo VsDuksykWthdy 

,DlisfjesaV 

58. RAM is placed on :   

(A)   Hard Disk 

(B) Extension Board 

(C) Mother Board 

(D) USB  

 58. RAM yxh gksrh gS % 

(A) gkMZ fMLd ij 

(B) ,DlVas’ku cksMZ ij 

(C) enjcksMZ ij 

(D) ;w,lch ij 
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59. Full form of GPS : 

(A)   Global Protecting Scheme  

(B) Global Positioning Scheme 

(C) Global Protecting System  

(D) Global Positioning System 

 59. GPS dk iw.kZ uke gS % 

(A) Xykscy izksVsfDVax Ldhe 

(B) Xykscy iksft’kfuax Ldhe 

 (C) Xykscy izksVsfDVax flLVe  

(D) Xykscy iksft’kfuax flLVe  

60. Find the odd one : 

(A)   .JPG 

(B) .JPEG 

(C) .PNG 

(D) .FEG   

 60. csesy NkafV;s % 

(A)   .JPG 

(B) .JPEG 

(C) .PNG 

(D) .FEG   

61. The speed of internet is measured 

in :   

(A)  GHz 

(B) Mbps 

(C) GB  

(D) DP   

 61. baVjusV dh xfr dks eas ekik tkrk gS % 

(A) xhxk gV~Zt 

(B) ,echih,l 

(C) thch 

(D) Mhih 

62. In the context of internet what is 

the full form of URL ?  

(A)   URL User Request Link 

(B) Ultimate Response Location 

(C) Unique Request Locator  

(D) Uniform Resource Locator   

 62. baVjusV ds lanHkZ esa URL dk iwjk uke D;k 

gksrk gS \ 

(A) ;wvkj,y ;wtj fjDosLV fyad 

(B) vYVhesV fjLikal yksds’ku 

(C) ;wfud fjDosLV yksdsVj  

(D) ;wuhQ+keZ fjlkslZ yksdsVj 
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63. Pre-defined rules, procedures and 

treaties for exchanging 

information and data on the 

Internet are called :  

(A)   Protocol 

(B) Auto call 

(C) Tito call 

(D) None of the above   

 63. baVjusV ij lwpuk ,oa vkadM+ksa dks 

vknku&iznku djus ds fy, ifjHkkf”kr fu;e 

izfØ;k ,oa laf/k;ksa dks dgk tkrk gS % 

(A) çksVksdkWy 

(B) vkWVksdkWy 

(C) VhVks dkWy 

(D) mijksDr dksbZ ugha 

64. Which is not a type of a server ? 

(A)   Proxy server 

(B) File server 

(C) Mail server 

(D) Hot server   

 64. dkSu lk loZj dk izdkj ugha gSa \ 

(A) izkWDlh loZj 

(B) Q+kby loZj 

(C) esy loZj 

(D) gkWV loZj 

65. Which of the following is it 

disadvantage of ICT ? 

(A)    Fast transmission of 

information 

(B)  World becoming a global 

village 

(C) Rumours spreading at speedly 

(D) Learning at once own pace   

 65. fuEufyf[kr eas ls dkSu lk vkbZlhVh dk nks”k 

gS \ 

(A) lwpuk dk rst izlkj 

(B) fo’o ,d oSf’od xkao cu jgk gS 

(C) xfr ls QSy jgh vQokg 

(D) viuh xfr ls lh[kuk 

66. Which is not the browser ? 

(A)   Internet Explorer 

(B) Opera 

(C) Mozilla  

(D) Google   

 66. dkSu lk czkmt+j ugha gS \ 

(A) baVjusV ,DlIyksjj 

(B) vksisjk 

(C) eksft+yk 

(D) xwxy 
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67. The educational channel launched 

by IGNOU :    

(A)   Eklavya 

(B) Gyan Darshan 

(C) Shiksha Darshan  

(D) All of the above   

 67. bXuw }kjk ‘kq: fd;k x;k ‘kSf{kd pSuy % 

(A) ,dyO; 

(B) Kku n’kZu 

(C) f’k{kk n’kZu 

(D) mijksDr lHkh 

68. The DNS set for educational 

institutions is :   

(A)   .edu 

(B) .com 

(C) .scl 

(D) .tch   

 68. ‘kS{kf.kd laLFkkvksa ds fy, fu/kkZfjr fd;k 

x;k  DNS gS % 

(A)   .edu 

(B) .com 

(C) .scl 

(D) .tch   

69. Suresh@hotmail.com means :  

(A)   Suresh is the user name 

(B) Hotmail is the name of the 

organization to which the 

email service is provided  

(C) .com means commercial 

organization  

(D) All of the above   

 69. Suresh@hotmail.com dk vfHkizk; gksrk 

gS % 

(A) lqjs’k iz;ksxdrkZ dk uke gS 

(B) gkWVesy laxBu dk uke gS tks bZesy 

lsok iznku dh tkrh gS 

(C) -dkWe ls vfHkizk; O;kikfjd laxBu 

(D) mijksDr lHkh 

70. WWW means :  

(A)   World Wide Web 

(B) World Wave Wide 

(C) World Wide Window 

(D) All of these   

 70. WWW dk vFkZ gS % 

(A) oYMZ okbM osc 

(B) oYMZ oso okbM 

(C) oYMZ okbM foaMks 

(D) ;s lHkh 
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71. Full form of CAI is :  

(A)   Computer Analyzed Instruction 

(B) Computer Assisted Instruction 

(C) Computer Assisted Interview  

(D) Computer Analyzed Information  

 71. lh,vkbZ dk iwjk vFkZ gS % 

(A) dEI;wVj ,ukykblM baLVªD’ku 

(B) dEI;wVj vflLVsM baLVªD’ku 

(C) dEI;wVj vflLVsM bUVjO;w 

(D) dEI;wVj ,ukykblM buQkesZ’ku 

72. Synchronous medium of Learning 

is :  

(A)  Video conferencing  

(B) Facebook messenger 

(C) Web-portal  

(D) Blog   

 72. flaØksul vf/kxe dk ek/;e gS % 

(A) ohfM;ks dkWUÝsaflax 

(B) Qslcqd eSlsatj 

(C) osc iksVZy 

(D) CykWx 

73. Asynchronous medium of 

Learning is :  

(A)   Video conferencing 

(B) E-mail 

(C) Telephone conversation  

(D) Live webinar    

 73. vflaØksul vf/kxe dk ek/;e gS % 

(A) ohfM;ks dkWUÝsaflax 

(B) bZesy 

(C) VsfyQksu dUojls’ku 

(D) ykbo oschukj 

74. Which is used for exchange 

information with in an institution ? 

(A)   LAN 

(B) MAN 

(C) WAN 

(D) None of these   

 74. fdlh laLFkku esa lwpukvksa ds ijLij 

vknku&iznku esa mi;ksx fd;k tkrk gS \ 

(A) ySu 

(B) eSu 

(C) oSu 

(D) buesa ls dksbZ ugha 
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75. A mobile App and website portal 

from where you can download all 

books of NCERT for free :  

(A)   e-Pusthak 

(B) Udaan 

(C) Swayam.com 

(D) e-Pathshala    

 75. ,d eksckby ,si vkSj osclkbV iksVZy tgka 

ls vki ,ulhbZvkjVh dh lHkh fdrkcsa eq¶r 

esa MkmuyksM dj ldrs gSa % 

(A) bZ&iqLrd 

(B) mM+ku 

(C) Lo;a-dkWe 

(D) bZ&ikB’kkyk 

76. WBL stands for : 

(A)   Wide Based Learning 

(B) Web Based Learning 

(C) Wide Based Listening  

(D)  Web Based Listening  

 76. WBL dk iwjk uke gS % 

(A) okbM csLM yfuZax 

(B) osc csLM yfuZax 

(C) okbM csLM fylfuax 

(D) osc csLM fylfuax 

77. Which of the following is not a 

type of E- Learning ? 

(A)  Flipped teaching-learning 

(B) Blended teaching-learning 

(C) Video conferencing  

(D) Collaborative teaching-learning   

 77. fuEu esa ls dkSu lk bZ&yfuZax dk ,d izdkj 

ugha gS \ 

(A) f¶yIM f’k{k.k&vf/kxe 

(B) fefJr f’k{k.k&vf/kxe 

(C) ohfM;ks dkWUÝsaflax 

(D) lg;ksxkRed f’k{k.k&vf/kxe 

78. Combination of both face to face 

and traditional classroom methods 

with e-learning is called :  

(A)  Distance learning 

(B) Blended learning 

(C) Synchronous learning  

(D) Asynchronous learning   

 78. f’k{k.k esa bZ&yfuZax ds lkFk vkeus&lkeus 

vkSj ikajijkxr d{kk fof/k;ksa ds la;kstu ds 

mi;ksx dks dgk tkrk gS % 

(A) nwjLFk f’k{k.k 

(B) fefJr f’k{k.k 

(C) flaØksul f’k{k.k 

(D) ,flaØksul f’k{k.k 
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79. An innovative tool the enables 

teachers to take students on 

impressive virtual journeys and 

field trips to anywhere :  

(A)   Google Classroom   

(B) Google virtual Tours  

(C) Google Expeditions 

(D) Microsoft Expeditions   

 79. ,d uokpkj midj.k tks f’k{kdksa dks Nk=ksa 

dks izHkko’kkyh vkHkklh ;k=kvkas vkSj {ks= 

Hkze.k ij dgha Hkh ys tkus esa l{ke cukrk gS % 

(A) xwxy Dykl:e 

(B) xwxy opqZvy VwlZ 

(C) xwxy ,DlihfM’kal 

(D) ekbØkslkW¶V ,DlihfM’kal 

80. Attainment of which objectives are 

not possible in a virtual classroom ?  

(A)   Cognitive 

(B) Understanding 

(C) Application 

(D) Affective   

 80. vkHkklh d{kk esa fdl izdkj ds mís’;ksa dh 

izkfIr laHko ugha gS \ 

(A) KkukRed 

(B) cks/kkRed 

(C) vuqiz;ksxkRed 

(D) HkkokRed 

81. Cable TV Network is the Example 

of :  

(A)   LAN 

(B) MAN 

(C) WAN 

(D) None of the these   

 81. dscy Vhoh usVodZ fdldk mnkgj.k gS \ 

(A) ySu 

(B) eSu 

(C) oSu 

(D) buessa ls dksbZ ugha 

82. Which of these not a platform of 

virtual classroom ? 

(A)  Zoom 

(B) Yahoo 

(C) Moodle  

(D) Blackboard    

 82. fuEufyf[kr esa ls dkSu lk vkHkklh d{kk dk 

IysVQkeZ ugha gS \ 

(A) twe 

(B) ;kgw 

(C) ewMy 

(D) CySdcksMZ 
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83. Which of these is the first virtual 

university of India ?  

(A)   Tamil Virtual University 

(B) Marathi Virtual University 

(C) Kerala Virtual University  

(D) Karnataka Virtual University   

 83. buesa ls dkSu lk Hkkjr dk izFke vkHkklh 

fo’ofo|ky; gS \ 

(A) rfey opqZvy ;wfuoflZVh 

(B) ejkBh opqZvy ;wfuoflZVh 

(C) dsjyk opqZvy ;wfuoflZVh 

(D) dukZVd opqZvy ;wfuoflZVh 

84. Which of the following is not a 

characteristic of virtual classroom ?  

(A)   Studying is possible even 

while in any business 

(B) Teaching learning is possible 

at any time and place 

(C) Social and emotional 

development of students is 

possible  

(D) All actions are possible 

online in virtual classroom 

system  

 84. fuEufyf[kr esa ls dkSu lh vkHkklh d{kk dh 

fo’ks”krk ugha gS \ 

(A) fdlh O;olk; esa jgdj Hkh v/;;u 

laHko gS 

(B) fdlh Hkh le; ,oa LFkku ij f’k{k.k  

vf/kxe laHko gS 

(C) Nk=ksa dk lkekftd ,oa laosxkRed 

fodkl laHko gS 

(D) vkHkklh d{kk iz.kkyh esa lHkh fØ;k,a  

vkWuykbu laHko gS 

85. Which interaction between teacher 

and students is given importance 

in Flanders’s interaction analysis 

model of teaching ? 

(A)   Verbal 

(B) Non- verbal 

(C) Both (A) and (B)  

(D) None of the above 

 85. ¶yS.Mj ds var% izfØ;k f’k{k.k izfreku esa 

f’k{kd rFkk Nk=ksa dh fdl var% izfØ;k dks 

egRo fn;k tkrk gS \ 

(A) ‘kkfCnd 

(B) v’kkfCnd 

(C) (A) vkSj (B)  nksuksa 

(D) mijksDr esa dksbZ ugha 
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86. In which step decisions are made 
regarding the success of teaching ? 
(A)   Social system 
(B) Support system 
(C) Syntax  
(D) Instructional system   

 86. fdl in esa f’k{k.k dh lQyrk ds lEcU/k esa 

fu.kZ; fy;k tkrk gS \ 

(A) lkekftd iz.kkyh 

(B) lgk;d iz.kkyh 

(C) lajpuk 

(D) vuqns’ku iz.kkyh 

87. In which step of the teaching 
model, the relationship between 
the student and the teacher is 
determined ?  
(A)   Social system 
(B) Support system 
(C) Syntax  
(D) Instructional system   

 87. f’k{k.k izfreku ds fdl lksiku esa Nk= vkSj 

f’k{kd ds vkilh lEcU/k dk fu/kkZj.k fd;k 

tkrk gS \ 

(A) lkekftd iz.kkyh  

(B) lgk;d iz.kkyh 

(C) lajpuk 

(D) vuqns’ku iz.kkyh 

88. The main objective of which 

model is the development of social 

abilities ?  

(A)   Group Investigation Model 

(B) Advance organizer Model 

(C) Concept attainment Model  

(D) Interaction model of teaching   

 88. fdl izfreku dk izeq[k mís’; lkekftd 

{kerkvksa dk fodkl djuk gksrk gS \ 

(A) lkewfgd vUos”k.k izfreku 

(B) vfxze O;oLFkkid izfreku  

(C) izR;; fu”ifŸk izfreku 

(D) var% izfØ;k f’k{k.k izfreku  

89. Group Investigation Model given 
by : 
(A)   Piaget and Bloom 
(B) Oliver and Shaver 
(C) Cox and Vairon  
(D) Dewey and Kilpatrick   

 89. lkewfgd vUos”k.k izfreku fn;k gS % 

(A) fi;kts rFkk Cywe 

(B) vksfyoj rFkk ‘ksoj 

(C) dksDl rFkk okbjksu 

(D) Mhoh rFkk fdyiSfVªd 
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90. Which of the four aspects of 

Flander’s interaction analysis 

modal of teaching determines the 

nature of teacher-student 

interaction ?  

(A)   Objective 

(B) Previous Behavior 

(C) Presentation  

(D) Evaluation   

 90. ¶yS.Mj ds vUr% izfØ;k f’k{k.k izfreku ds 

pkj i{kksa esa ls fdl i{k esa f’k{kd rFkk 

Nk=ksa ds var% izfØ;k ds Lo:i dk fu/kkZj.k 

fd;k tkrk gS \ 

(A) mís’; 

(B) iwoZ O;ogkj 

(C) izLrqfrdj.k 

(D) ewY;kadu 

91. Into how many parts is classroom 

behavior divided in Flander’s 

interaction analysis ?  

(A)  5 

(B) 10 

(C) 15  

(D) 20   

 91. ¶yS.Mj dh vUr% fØ;k fo’ys”k.k iz.kkyh esa 

d{kk O;ogkj dks fdrus oxksZa esa foHkkftr 

fd;k x;k gS \ 

(A) 5 

(B) 10 

(C) 15 

(D) 20 

92. The full form is WAN is : 

(A)   Wireless Area Network 

(B) Wide Area Network 

(C) Web Area Network  

(D) Wired Area Network   

 92. oSu dk iwjk uke gS % 

(A) ok;jysl ,fj;k usVodZ 

(B) okbM ,fj;k usVodZ 

(C) osc ,fj;k usVodZ 

(D) ok;jM ,fj;k usVodZ 
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93. The principle of feedback is based 

on : 

(A)   Cybernetic Psychology 

(B) Training Psychology 

(C) System Analysis  

(D) All of the above   

 93. ì”Biks”k.k ds fl)kar ij vk/kkfjr gS % 

(A) lEizs”k.k euksfoKku 

(B) izf’k{k.k euksfoKku 

(C) iz.kkyh fo’ys”k.k 

(D) mijksDr lHkh 

94. The exponent of Advance 

organizer model is :  

(A)   Robert Glazer 

(B) David Ausubel 

(C) Richard Suchman  

(D) J.S. Brunner   

 94. vfxze O;oLFkkid izfreku ds izfriknd gSa % 

(A) jkscVZ Xystj 

(B) MsfoM vklqcsy 

(C) fjpMZ lpeSu 

(D) tså ,lå czwuj 

95. To which class does the Concept 

attainment model belong ?  

(A)   Personal source 

(B) Information processing 

source 

(C) Behavior modification source  

(D) Social interaction source  

 95. izR;; fu”ifŸk izfreku fdl oxZ ls lacaf/kr 

gS \ 

(A) O;fDrxr L=ksr 

(B) lwpuk izfØ;k L=ksr 

(C) O;ogkj ifjektZu L=ksr 

(D) lkekftd var%fØ;k L=ksr 

96. The exponent of the concept 

attainment model is :  

(A)   Glazer 

(B) Ausubel 

(C) Suchman  

(D) Brunner   

 96. izR;; fu”ifŸk izfreku ds izfriknd gSa % 

(A) Xystj 

(B) vklqcsy 

(C) lpeSu 

(D) czwuj 
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97. Which model is used to make 

students’ organizational structures 

effective ?  

(A)   Inductive model 

(B) Concept attainment model 

(C) Advance organizer model 

(D) Juris Potential model   

 97. Nk=ksa dh laxBukRed lajpukvksa dks izHkkoh 

cukus ds fy, dkSu lk izfreku iz;ksx fd;k 

tkrk gS \ 

(A) vkxeu izfreku 

(B) izR;; fu”ifŸk izfreku 

(C) vfxze O;oLFkkid izfreku 

(D) twfjl izfrHkk izfreku 

98. The steps of the models of 

teaching are explained in :  

(A)   Syntax 

(B) Support system 

(C) Social system  

(D) Instructional system   

 98. f’k{k.k izfreku ds inkas dh O;k[;k dh tkrh 

gS % 

(A) lajpuk esa 

(B) lgk;d iz.kkyh esa 

(C) lkekftd iz.kkyh esa 

(D) vuqns’ku iz.kkyh esa 

99. Which of the following is not a 

part of the model of teaching ?  

(A)   Support system 

(B) Social system  

(C) Syntax  

(D) Instructional system   

 99. buesa ls dkSu f’k{k.k izfreku dk Hkkx ugha 

gS\ 

(A) lgk;d iz.kkyh 

(B) lkekftd iz.kkyh 

(C) lajpuk 

(D) vuqns’ku iz.kkyh 

100. Into how many families have 
Bruce Joyce divided the modern 
models of teaching ?  
(A)   3 
(B) 4 
(C) 5  
(D) 6   

 100. czwl T;ksbl us vk/kqfud f’k{k.k izfrekuksa dks 
fdrus ifjokjksa esa foHkDr fd;k gS \ 
(A) 3 
(B) 4 
(C) 5 
(D) 6 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 


